GNC“

fa= Zopsiy
% K\bou &
KSM“ VL\K“ 6

k(-nfgc Jalve ® O

D . 2,067
4 Ol(I”

0 Both valies opea Q.=Q,

P
A\J £ fé7ﬁ+%+mg L\ —

FA ; 5 \2’15'\
T"H’-AB Ay
?3'OPS

7 o1 3k 2
A Z(OO‘/ -I—ZOQZO @Z;b Zg 9= 327‘.(/31, 5%@4‘%
Y= (2.4 0fy3= ©0.036 ">

7! )
A . 2 0.9 e G* [’ le"' () 1 (v
7 Lo (i) o 048 )

TZ(r.06iyt
s 2oa
5 636 0. %0 ,ﬂbzmu) Z/O ngm(. 0.00 1:§+ 5 \@ 00\3)”0(;";:0 o,aavs

0.00(3

Z/O t (O()o?-) (0. oooova\ (0.00 ogfb) (0.0000% 1)
0.036 Q (2(0 q (00885 00013) + 2(690.0062)(00013) + S (8.98%)o 0013t [0 (0.0062)0: oor5>
) £55.5¢ : " 1
R CE 0.c00%3, - 791.86 % %AW G) Qut Q3
| ., 20489 £ 134

%VA\VC in branch Z o?l,n 0/\1;3

= Z [
( V(e ’(402@)5( (sswv t IO(”'Q?'
4‘1

@ £56.5G _ ol
©.00°90 7,405, 6¢ /5 = | 30(-'4‘6/3?

6)?Y41VC in brangh | afén or\L‘5
k - il

{ - Z{M/r (z.0¢69)" (39:- 4% + 5(Z8-
Bz ] 222 2 §38.507% <]





{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

